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ZP% A Aﬁs multiplikation av brak (blandad fraktion)

namn: Datum: Poéng:
5 1 1 1
= X == _x1==
9 6 5 7
L] 13
_ X — = l—><—=
7 9 379
3.3 I
4 5 6 6
6 2 6 1
— X — = U o=
9 4 g 3
> 1 2 3
—x]-= “x I =
6 6 6 8
L3 16
=X 5= - X — =
77 38
I%Xl_ %xl%—
4 3 3 5
1%X3l_ éxl%_
5 2 Q 3
lgxéz Z><1%:
49 0 4
4 2 2 4
_ X — = o - —
9 6 37 6
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% A\ ﬁ multiplikation av brék (blandad fraktion)

hamn: Datum: Poéng:
5 1 5 1 1 3
- X - = — —Xl—:-—
9 6 54 5 2 10
111 1 3 4
- X - = — l—x—:—-
779 63 35979
3.3 9 11 49 13
Sx = l=x]o=—=1-—
4 5 20 6 6 3 36
6 2 1 6 1 1
— X — = — S ox =
9 4 3 8 3 4
5 1 35 2 3 1
—X]-=— “x Z = _
6 6 36 6 88
o> L 6.7 3
7 49 3 8 4 4
2 1 1 2 2 14
l—X—:— _Xl_:_
4 3 2 3 5 ]
2 1 49 9 5 2 25 1
15772710~ *o 271372 'u
2 5 5 7 2 7 |
15x 5= Sx1Z=2=1-
4 9 6 9 4 6 6
4 2 4 2 4 4
- X - = — fw =2
9" 6 27 3569
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